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. U = mgh, (gravitational potential energy)
i =§- x? (elastic potential energy)
= K + U (Mechanical energy)

B " .
|, f(x)dx (Change in poten tial energy)
7+ AEy, = 0, (isolated system)




ced on a horizontal table. the coefficient of static
and the table are p-/-(LS and px= 0.3. A
The frictional force between the block and

jus icy roadway be banked (J:) to allow cars to turn
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he effectiv o ; re: £ ' 15 1lir g object is reduced to half its initial value, 'ghen the ratio
ed of the object to the origin al terminal speed will be

eople (60 kg per person on the average)
the second floor, 5 m above. The
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1 escalator (s aas) 1 used to move
+ minute from the first floor of a department store to

er of the escalator's motor required should be atleast 4
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EEAMGACES 38 D ng acted upon by a constant force F = 2i + 3j-k N. The force moves the
' ‘: d i’~=- efr n 1he ongm (0 0,0) to the point (4m, 5m, Om). The work (in Joules) done on
R g, s orCe | B,v G (6,60) 2 (4,5, 0)

- 7. An100-N box slides with constant speed a distance of 5.0 m downward a rough incline
~_ thatmakes an angle of 30° with the horizontal. The work done by the force of friction

/s The car’s engine produces a 4000 N
t., How much power is developed by

g with a spring constant of 20 N/m
. The total mechanical energy of the system

is 0.9 J. The block reaches a maximum distance from the relaxation point of W

(a) 1.0 m ' | w __0ON
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(d) 1.5m @‘q,::.,l.. }Qﬁ)‘}( (9‘Q" - W
(e) 0.1m =g 2 A%

10. The potential energy function o%particle is given by The

mechanical energy of the particle i54 ]| Find the turning points of the particle.
(@ +1.0m,-1.0m Gl . U
(b) +1.5m,-2.0m 2% +X
(c) +1.5m,-1.5m
M  +05m,-1.0m @2x=" &+)

(e) +2.0m,-2.5m QJ,Z"*QV’X ~ )
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1 A 20 ¢ ball hits a vertical wall perpendicularly with a speed of 20 m/s and rebounds in

’.._._'E ball (in Newtons) during its contact time (in

Al E V(@ - 2,5

plane at an angle of 30 degrees with the
tial energy of the block is
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xcom

Xcom = 1cm, Yecom = -2 cm
Xcom = CM, Yeom = & CM
Xcom = —3 €M, Yeom = 3 cm

osite direction with the same speed. The adjacent graph shows the force acting
milliseconds) with the wall. What

e :..
- |

L BOOR NS SR BRER AR ARER AL T

- g0e . FO8P s '8 qsua'“o . e

:
i

. A »

ximum force on the ball (Fmx) from the wall?
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400 N -
200 N f)
160 N

15. A force F, = 2i + 3jis applied toa 2. gO kg mass, and another force F, = i — 2f isapplied

to a second 0.50 kg mass. The acceleratlon of the cent

er of mass of the two-particle
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(@) @com = 0.751 + 0.25] m/s? 3 iath oA
d.om = 1.00 + 0.33] m/s? Sy - Iy swy . &

(©)  dcom = 1501+ 0.50f m/s? T

(d)  dcom = 3.00f + 1.00] m/s? Lo IS .
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